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f(x) = alx — 150)? + 200 ]
1 K|

300 = a(-150)%+200 or

f(x) = EZI_S(X —150)% + 200

(200 - 150)* +200 or f(x) = 211.11 cm or 2213

1
) =—
211.11 — 150 = 61.11 or equivalent Kk
61.11 Kl
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3 W
[ 6marm
JB=62+(2—-002=vI3 (Radiusofthe circle) s |
JG=37+(-27=Vi3 |
x2+y*—6x—4y=0 sl ]

Jh-372+@-272=v13
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N =(0,-9) RN

Area = %l(o+o+0)—(o+o+(—s4))l / Klj

' = 27unit? I NI j
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1 40 NI
L \13§ or T or13.33 ’
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1 2 m [y 8y g 6-y*1° Kl
\ 3XT[X4 X4 + 4[?+3+16y]0 orn[ . ]2
\ \36 : = 36.27 w }
En or 15 m or LT
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* = Pl
@ |3 23
27° = (2V3) Kl
=243 NI
b) g2
( logz———(zs:(:)_ : 2=10 Kl
t =974 min N5
©)] s=e-2 Kl
f)=¢"-2 N1
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6(a) | x=3—-ky Pl
G-k +y-203-k)+5y=1 Kl
(R+1)y2+(5-dky+2=0
(5—4ky? - 432 +1)(2) <0 Kl
0.469&’«//4.53141




NO | SCHEME I M*I‘\III‘K
0.4690 < k< 4.531 2
®) | k=5 e
26y*- 15y +2=0 =
_ —(-19)+/(-15)2-4(26)(2)
Y 2(26)
y=0.3678, 0.2092
(1.161 , 0.3678) and (1.954 , 0.2092) NI
| 8 marks
7@0 | 7k + (n = D(7k) = 1008 iRl
144 / NI
- Kl
(a)ii) [ 1,144
—(—k—) [7k + 1008] / J
72576 NI
504 + T / J
®) | n=20 R
520 =22 = 1048 575 / = J
1048 5.75 — 10000 = 485.75 TR
First method. Pay extra RM485.75 for second method [ N1 ]
I 8 marks J
R TRy I &
8(a)i) | 0C = 0A + A K1
=$p+:a i
BC = —3—2p + Zq NI
(@) ii) Do
8 R
®) DC=-5—_—§_clorDB=8p—2q !
DB = kDC
8 3 Kl
sp-20=k(5259)
3
8=ck or —2=—ck / Kl /

10
k=-—3—andk=5

~ Tent B can be seen

|

BO = 8(2) = 16unit or OF = 7(3) = 21 unit
|BE| = 162 + 217 = 26.40 unit
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t \ 08 \ 0.70 ‘ 05| 04 1 025 | 02 Pl
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Lx_ 161 | 379 | 816 | 1025 | 13.56 | 14.71 Pl
Y
©1) |2 42
L a Ki
)’
| o576 N
(©) i) | y.int . _19-82 _ 108 :
L \y ntercept=19  or m = e e equivalent Pl
X2 _ _108(1 Kl
Fug) S I () 1o
3
h 95x -108 NI
L 10 marks
10.( a) np =40 ,npq =15 Pl
Q) 40q =15 K1
P=g N1
(a) ii) P(X 22)=1-[P(X=1)-P(X =0)]
N A 2 72x2 K1
8 = 8 i, e
C1 ® 6 +%6 6 ]
0.9915 or 0.99148 N1
OF) ~(A0—45 60 — 45 K1
P(40<X<60)—P( w << 2 )
= P(-0.417 < Z < 1.25)
=1-P(Z > 1.25) — P(Z < —0.417)
=1-0.1056 — 0.3384 = 0.5560
\ = 0.5560 X 90 K1
b | 50 orang N1
(b)ii) | P(X =m) = 0.63
i A O =
Ao O
42 N1
‘7 \ 10 marks
i =
Fl(a) Znx04=15
[ \0A=§/11.14 .
(b) 3 e AB Kl
tanﬁn —-§5—
K3
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=—tan—nm
1 14
15 + —t : + 35t 2 / KI
—tan—m+—tan—r
e T
3277 {2l
© | Area OABC=3—Sx§tanin / K j
/4 n 14
_1(35\2(3 K1
Area of sector = 5(;) (; Tl’) / /
Areaofshaded region = 2 x Zan 2 — 1 (2’ (27) R
¢a of shade region = =X —tan—m — (= ST
15.42 NI /
[ 10 marks /
12 | AC?=5.732+7.557=2(5.73)(7.55)c0556° KI
(@) (i) AC=6.438 cm NI
SinACD __ sin124° K1
(i) 541 6438
2ACD =44.16° NI
=X distance X 6.438 = =X 5.73 X 7.55 X sin 56° Kl
(iii) Distance = 5.571 NI
5
(b)(i) C? Pl
D’ (£A'D'C’ is an acute angle)
D 541
Sin79.84°  sin 44.16° K1
NI
(i) C’D’=17.644 cm
’ / lOmarﬂ
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| NO [SCHEME VI
| 3@ |a=3t2-12t+8 <1
|a=8ms2 NI
| ® [3t2-12t+8<23
< [isar =520
| le+ne-5<0 Kl
| lostes NI
| © [#-6et?+8t=0
| | t(t?—6t+8)=0
| [te=-2e-9= = KI
{ [t=0t=2t= NI
d K1
\ o \s———2t3+4t2
t4
\ \Z—2t3+4t2—0
| [t2(t> -8t +16) =0
| [et-9¢-9=0
| [t=4 OR s=4whenr=2 OR s=0Owhent=4 K1
r \ f:(t3 — 6t + 8t) dt + |fz(t3 — 6t +8t) dt| OR 4+4+0 K1
[ 8m N1
r \ 10 marks
(a)(x) 130 N1
(a)(id) :
22 x 100 =130 or % 100 K1
; NI
x =3.00,z =150
(b) 108(6) + 13005 + 170(3) + 150(1) K1
6+5+3+1
130.53 N1
(c)(l) T2018 X 130.53 - K1
2016 T
Tk =
7 =122.58
6
i P2020
(o)) 160 = 222 % 100 K1
Pyozo = RM3.84
1952300 K1
384
50 781 N1
‘F \‘ 10 marks
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600x + 300y > 18000 I 2l
(©)@) [x =3y [
P=38, Q=13 [N
(c)(ii) | (30,20) I bl
[600(30) + 300(20)] x 4% K1
RM960 INI J
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